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I. Vocabulary (30%)
1. There is no doubt that these measures will _______ the solution of the problem.



A. contribute to

B. result from


C. lead in 


D. attribute to
2. While my wife and kids were away for the long weekend, I _______ the entire house _______. 


A. caught; in myself





B. took; by myself




C. owned; with myself





D. had; to myself
3. The office building has recently been _______ for greater comfort and efficiency.



A. loaned



B. repaid



C. renovated


D. varied
4. In terms of population, Greater New York City is the largest _______ center in the United States.



A. urban



B. suburban


C. outskirt


D. rural
5. The visit to the computer center has _______ the pupil’s interest in computer science.

 

A. raised      

B. reflected 


C. risen   


D. stimulated 

6. Bob didn’t turn up at the party; I had a(n) _______ that something must have gone wrong.



A. intuition


B. reliance


C. magic



D. profession
7. If we _______ the problem from a different angle, a solution may become more obvious.



A. contract


B. view



C. quest



D. cover  
8. Sorry the place is so _______; I haven’t had time to clean up.


A. potent



B. tense



C. messy



D. intense
9. It’s reported that those hurt in the explosion were _______ $50,000 damages.

 

A. permitted     

B. remitted     

C. rewarded      

D. awarded  
10. To our surprise, her _______ remark about the mission（使命）should have caused a political storm.
A. casual           
B. careful



C. due



D. obvious
11. Consumer spending is often a(n) _______ of public confidence in the economy.
A. signify


B. index



C. exhibit



D. skip
12. As it turned out, the speaker was shouted down by the _______ crowd.


A. friendly


B. creative


C. hostile



D. kind
13. The report is a bit lengthy; _______, it says that more money should be spent on education.
A. in short


B. in detail


C. for instance


D. for ever
14. That child’s concentration _______ is poor — he only listens to the teacher for a few seconds at a time!

A. span



B. period



C. image



D. screen

15. If you really want to apply for the dangerous job I won’t _______ in your way, though I think it’s a crazy idea.



A. prevent


B. stand



C. make



D. take

16. Wilfred’s remarks _______ me in my opinion that he was an honorable（诚实的）young man.



A. remitted


B. confirmed


C. committed


D. informed  
17. Jane is so highly regarded at her job because she can react _______ to each situation.


A. supposedly


B. vividly


C. appropriately

D. attainably
18. The June 3, 1996 _______ of Newsweek carries a long article about Japan’s future empress（皇后）.



A. report



B. list



C. item



D. issue
19. Roger was quite stubborn and it was almost impossible to _______ him of his mistakes.


A. province


B. convince


C. invert



D. divert
20. _______ poor management, the company finally went bankrupt（破产）.



A. Due to



B. Owing of    

C. Because


D. Thanks to

21. Greater efforts are needed before we can _______ our goal of economic reform（改革）.
A. attain     


B. contain      

C. retain       

D. sustain
22. The book I’m reading explains the _______ of plant and animal life on earth.



A. solution


B. revolution


C. evolution


D. resolution
23. Nina wanted to make a model plane, but she did not know how to _______ it.
A. go over


B. go about


C. go up



D. go with
24. The singer’s voice _______ easily to the top notes.


A. roared



B. soared



C. raised



D. arose
25. It was the first time he and I drank together. As I _______, it was also the last time.



A. respond


B. flip



C. flap



D. recall
26. Tommy often neglected _______ his teeth before going to bed.



A. to brush


B. to brushing


C. brushing


D. on brushing
27. Robert will never _______ anything unless he works harder.
A. go beyond      
B. amount to     

C. go about     

D. react to 
28. To our surprise he refused to take our advice, even though it was for his _______.



A. benefit



B. vision



C. view



D. means
29. His parents _______ him in a boarding school when he was only seven years old.



A. tucked



B. enrolled


C. sent



D. skipped
30. He knew he had said the wrong thing and _______ the conversation to a less embarrassing subject.

A. inflected


B. reflected


C. switched


D. itched     
II. Reading Comprehension (30%)
Passage 1
There are many ways of defining success. It is accurate to say that each of us has our own ideas of success to the extent that each of us is responsible for setting our own goals and determining whether we have met these goals satisfactorily. Because each of us possesses unique differences in genetic ability and favorable environments in which to express these abilities, it is necessarily true that we must define success broadly.


For some people, simply being able to live their life with a minimum of misery and suffering is considered a success. Think of the peace of mind of the poor shepherd who tends his sheep, enjoys his frugal life with his family in the beauty of nature, and who is respected because he does a good job of achieving the goals expected of him and accepted by his family and his society. On the other hand, it seems that even though some people appear to be rich in material possessions, many of them seem to be miserable and consider themselves unsuccessful when judged by their own standards of success. Because not all ventures can be successful, one should not set unrealistic goals for achieving success, but if one has self-confidence it would be unfortunate to set one’s goals at too low a level of achievement.


A wise counselor once said to a young man who was experiencing frustration with his own professional success, “You do not have to set your goal to reach the moon in order to have success in traveling. Sometimes one can be very successful merely by taking a walk in the park or riding the subway downtown,” The counselor added, “ You have not really failed and spoiled your chances for success until you have been unsuccessful at something you really like, and to which you have given your best effort.”
31. In the first paragraph, the author implies ____________ are essential to the achievement of success.

  A. ability and goals

  B. goals and determination

  C. ability and environment

  D. goals and environment

32. Why do some rich people consider themselves unsuccessful?

  A. Because their life is busy and miserable.

  B. Because they haven’t reached their own standards.

  C. Because they set their goals at too low a level.

  D. Because they are not rich in material possessions.

33. What does the word “frugal” (Line 3, Para. 2) mean?

  A. wealthy

  B. wasteful

  C. thrifty

  D. miserable

34. What does the last paragraph imply?

  A. Success means setting great goals and then working for them.

  B. Success means taking a walk in the park or riding the subway.

  C. We are successful if we set high goals and manage to attain them.

  D. We fail if we are unsuccessful after trying our best at things we like.

35. The purpose of the passage is _____________.

  A. to give us a clear definition of success

  B. to talk about how to achieve success

  C. to state what our life goal should be

  D. to discuss the importance of goals

Passage 2
A 10-year-old boy decided to study judo（柔道）despite the fact that he had lost his left arm in a devastating car accident.


The boy began lessons with an old Japanese judo master. The boy did well, so he couldn’t understand why, after three months of training, the master had taught him only one move.


“Master,” the boy finally said, “Shouldn’t I be learning more moves?”

“This is the only move you know, but this is the only move you’ll ever need to know,” the master replied. Not quite understanding, but believing in his teacher, the boy kept training.


Several months later, the master took the boy to his first tournament（锦标赛）. Surprising himself, the boy easily won his first two matches. The third match proved to be more difficult, but after some time, his opponent（对手）became impatient and charged; the boy skillfully used his one move to win the match. Still amazed by his success, the boy was now in the finals.


This time, his opponent was bigger, stronger, and more experienced. For a while, the boy appeared to be outmatched. Concerned about the boy, the referee（裁判）called a time-out. He was about to stop the match when the master came forward. “No,” the master insisted, “Let him continue.”

Soon after the match resumed, his opponent made a fatal（致命的）mistake. He dropped his guard. Instantly, the boy used his move to pin him. The boy won the match. He was the champion.


On the way home, the boy and his master reviewed every move in every match. Then the boy summoned the courage to ask what was really on his mind. “Master, how did I win the tournament with only one move?” “You won for two reasons,” the master answered. “First, you’ve almost mastered one of the most difficult throws in judo. And second, the only known defense for that move is for your opponent to grab your left arm.” 

36. Judging from the context, what happens when a referee calls a “time-out” (Line 2, Para. 6)?

   A. The time for the game has run out.

   B. The game stops for a short time.

   C. Either side can claim victory.

   D. The game ends in a tie.

37. Why did the master insist on continuing the match?

   A. Because the time-out would give the opponent an advantage.

   B. Because the boy was confident of winning.

   C. Because he had confidence in the boy’s skill.

   D. Because all he cared about was winning the final.

38. What caused the defeat of the boy’s opponent in the final?

   A. Over-confidence.




B. Impatience.

C. Inexperience. 




D. The time-out.

39. Why did the master only teach the boy one move?

   A. The boy could not do other moves with only one arm.

   B. It was the only move the master knew well.

   C. It was the move his opponents were not good at.

   D. His opponent would be helpless when he made this move.

40. What does the story show?

   A. One can turn a weakness into an advantage.







B. It is very important to have a good teacher.




C. Even a disabled person can win in a judo match.







D. To master judo one only needs to learn one difficult move.

Passage 3

Some pessimistic experts feel that the automobile is bound to fall into disuse. They see a day in the not-too-distant future when all autos will be abandoned and allowed to rust（生锈）. Other authorities, however, think the auto is here to stay. They hold that the car will remain a leading means of urban travel in the foreseeable future.


The motorcar will undoubtedly change significantly over the next 30 years. It should become smaller, safer, and more economical, and should not be powered by the gasoline engine. The car of the future should be far more pollution-free than present types.


Regardless of its power source, the auto in the future will still be the main problem in urban traffic congestion（堵塞）. One proposed solution to this problem is the automated highway system.


When the auto enters the highway system, a retractable（可伸缩的）arm will drop from the auto and make contact with a rail, which is similar to those powering subway trains electrically. Once attached to the rail, the car will become electrically powered from the system, and control of the vehicle will pass to a central computer. The computer will then monitor all of the car’s movements.


The driver will use a telephone to dial instructions about his destination into the system. The computer will calculate the best route, and reserve space for the car all the way to the correct exit from the highway. The driver will then be free to relax and wait for the buzzer（蜂鸣器）that will warn him of his coming exit. It is estimated that an automated highway will be able to handle 10,000 vehicles per hour, compared with the 1,500 to 2,000 vehicles that can be carried by a present-day highway.

41. One significant improvement in the future car will probably be _________.

   A. its power source

   B. its driving system

   C. its monitoring system

   D. its seating capacity

42. What is the author’s main concern?

   A. How to render automobiles pollution-free.

   B. How to make smaller and safer automobiles.

   C. How to solve the problem of traffic jams.

   D. How to develop an automated subway system.

43. What provides autos with electric power in an automated highway system?

   A. An engine.







B. A rail.

C. A retractable arm. 





D. A computer controller.

44. In an automated highway system, all the driver needs to do is __________.

   A. keep in the right lane

   B. wait to arrive at his destination

   C. keep in constant touch with the computer center

   D. inform the system of his destination by phone

45. What is the author’s attitude toward the future of autos?

   A. Enthusiastic.







B. Pessimistic（悲观的）.




C. Optimistic（乐观的）.







D. Cautious.

III. Blank-filling (10%)
At the police station they questioned me for several hours. I continued to try to look __46__ and au fait with the situation. When they asked me what I had been doing, I told them I’d been __47__ for a job. “Aha,” I could see them thinking, “unemployed.”
Eventually, I was __48__ charged and told to report to Richmond Magistrates’ Court the following Monday. Then they let me go.

I wanted to __49__ my own defence in court, but as soon as my father __50__ out what had happened, he hired a very good solicitor. We went along that Monday __51__ with all kinds of witnesses, including my English teacher from school __52__ a character witness. But he was never called on to give evidence. My “trial” didn’t get that far. The magistrate __53__ the case after fifteen minutes. I was __54__. The poor police had never stood a __55__. The solicitor even succeeded in  getting costs awarded against the police.

	A. officially      B. worldly        C. free          D. found           E. looking

F. as            G. conduct        H. chance        I. dismissed        J. armed


IV. Translation from English into Chinese (15%)
56. My friend was puzzled that I did not want what was obviously a “step up” toward what all Americans are taught to want when they grow up: money and power.
57. I bring this up because we seem to be at a point in the evolution of our society where everyone is clamoring for instant access to ever-growing bodies of information.
58. Daydreaming alone can’t turn you into your heart’s desire. But in combination with the more usual methods of self-development, it might make a critical difference.
V. Translation from Chinese into English (15%)
59、这位律师试图说服陪审团 (jury) 他的当事人 (client) 是无辜的。(convince sb. of)
60、暂时他只得接受了一份给一家化妆品公司发促销传单的活儿。(distribute, promote, cosmetic)
61、即使你是班上最好的学生之一，要保住成绩也得常常温习功课才行。(even if, maintain)
62、她的结论是建立在对当前国际情况进行了认真的分析的基础上的。(be built on, analysis)

63、如今研究人员提倡我们应该每天花些时间将自己想要达到的目标投射到心灵的屏幕上。(recommend, project…onto…)

Key to Vocabulary & Reading

I. Vocabulary 
1~5 ADCAD


 6~10 ABCDA

   11~15 BCAAB


16~20 BCDBA        21~25 ACBBD          26~30 CBABC
II. Reading Comprehension 
31~35 CBCDA

 36~40 BCADA         41~45 ACBDC
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